Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

&
P
+ .
——

1.0

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFitOLD__RECO

—— DQM_V0001_R000000001__Global__mkFitNEW__RECO

= 0.1

T :
L R R
e F :
0_-’0'08:_ """ R s S R A
Q E : :
£0.07------ S P S S
5] E : :
S S EHERRIRN SR RS £ §
0.05F{f -+ o ity i
0.0aE{ - i AF i -5 g
0.03E4t | b {4
0.0 ﬂ L ElL ALl L
E s : A 4
OO [ Rl 8 0 A R L i
.9J—-\oof""lllllilllli||||||||||||||
T N .
@ r :
1 :
0.953 ) ) 0 ; L |

Efficiency vs ¢

o 0.]
g
Z 0.09F
2 :
50.08F:
o .
£0.07F
o :
0.06F
0.05F
0.04F
0.03 -

||'-||||

TP @



	Contents
	Page 1


